RAClients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.dwg, FL-16094.1

75" MAX. OVERALL

_ .ﬁ SR T — .
.9
P1astpro e 19 @
4 [ 4 ;o
5200 W. CENTURY BLVD. | 1 i [5S 25
LOS ANGELES, CA 90045 g mm D > S 1227
< \2/ ; a8 Z
mm mm x |1~ X o |19 ST
GLAZED FIBERGLASS SINGLE DOOR 35 33 S Al /J S L
w/ or w/out SIDELITE(S) 25 k2 & mm W
e 3 2
Inswing / Ouiswing =3 83 S
"IMPACT" _ _ S—
p_b p_p 35
GaB o0 O »
1= =
112.5' MAX, OVERALL £n |4 28
GENERAL NOTES FRAME WIDTH mm 2 m&
1. This product anchoring drawing has been developed and is in compliance with the th Edition (2017) Fiorida Buikiing @ @ o 2|2 mm
Code (FEC) struetural requirements including the "High Velocity Humicane Zone" (HVHZ). See the Certification Agency . g 5 &4
Cerlificate for slzes, specificotions and rafing. ﬂ n m m &
2. Product anchors shall be as listed and spaced as shown on detalls. Anchor embedment to base material shall be L. 2
beyond wall dressing or stucco. g 42 e
3. When used in the "HVHI this product complies with Section 1626 of the Ficrida Bullding Code and does not requite an wm mw (5 - @
impact resistant covering. OM 30 o X~ 0 mm
4. When used In areas outside of the "HVHI" requiring wind bome debris protection this product complies with FBC mm m.mw 2 WN
Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant covering. This product meets missile level "'D" =¥ b a S m
and includes Wind Zone 4 as defined In ASTM E 1996 and FBC Sections 1609.1.2.2 & R301.2.1.2.1. mw mw mm 5
5. For2xstud construction, anchoring of these urits shall be the same as that shown for 2x buck masonry construction, g Blg| @
——
6. Site conditions that deviate from the detalls of this drawing require furiher engineering analysis by a licensed engineer _ k b p & mm
or registered architect. : H.'l.' w m
7. Outswing configurations utiizing the high dam sil {see Section 5/3), meet water Infitration requirements for "HVHE'. Al @@ @3 =
other configurations do not meet the i&ﬂ _:azu__ﬁu: Eﬂn&wﬁ:ﬂﬂwﬂaﬁ the "HVHI" and ﬂhﬂ.ﬂoﬁa&% o_u:.w_,___...__ouﬂ e .m. WE
on-habitable areas or ot habifable locations prof an ang o Canopy su & an| R 3
unnm of canopy or overnang fo sil s less than 45 degrees. CONNGURATION huﬂ.m DESIGN PRESSURE (PSF) S5 m
DIMENSION | POSITIVE |NEGATIVE -2
TABLE OF CONTENTS
SHEET# | DESCRIPTION X 37.5"x81.81" | +50.0 .50.0 H._ M\H,HW\MM
Typical elevations, design pressures & general notes e
Horizontal cross secfions MOk | ZExet | #500 | -50.0 ow o, LFS
: Verfical fio 3
Y Buck a,_gm_mmnoa s & bil o Tferah oxo 112.5"x81.81" | +50.0 -50.0 g
E Frame anchoring & glazing detols . . FL-16094.1
SHEET 1 0F_5_

© 2012 R.W. BUILDING CONSULTANTS INE.



RAClients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.dwg, 21

1-1/4" MIN 1-1/4"MIN, _,

v, 1P ™| INTERIOR e INTERIOR 2
[ O ~
4.. 1... ._ 4- n. mwomm_a
b4 : F e ¢ Thmm
- v | 332G
> 1 m s
i k. gR%2
) ._.'.. q M_WMM
2 3adk
2 i

Y
"....E_w\\\\\\

pl
@\ﬂ ‘ EXTERIOR @\ ..

mww:ounozgnaonmﬂaoz

TX Buck Construction .

Evh, (VP - H.mﬂﬁ i m z

INTERIOR mw mw Qﬂmﬂ%& Bl

ﬁv N o

el g
: it o B 1o
i Yisaam, 83 &

i

<

.. "% (p _\‘\“.\\ n!...-.l.l.!\.‘\ i
Pl Eh-g_ _\\ | _ ] 7 N 3 m
= v/@ .;_—_\\.‘ t LA MO : ad wam
EXTERIOR T EXTERIOR S % T2/Tons

scae  N.T.S.
L~ —— o

m m wxoﬁozi_ CROSS SECTION  [2%.%LFS
TX Buck Consiuction FL-16094.1

sEET _2 oF 5

© 2012 R.W. BUILDING CONSULTANTS ING.



RAClients\Plastpro, Inc PERMANENT\A - Flovida Product Approvals\FL-16094

N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.dwg, 3.1

:
g

2 -

: (1 -

o

nl| o I
S k¥ zéé%
P 2
3
i g
“\\ll Hr;,,’
S e 8%,
R e Y

)
s 7 W
/ £ 7 Nodsos ;3
= * kg
14,2017 =94 % i EF
= = OLY g
A oSS

AN HELE BRI
|u T : ek S PLASTPRO INC.
9 § o 10/14/17 |UPDATE T0 61H ED. (2017) FBC | LFS | PART OR ASSEMBLY:
* |a|E|w[>[_|8/0%/1% [CARIFIED INSTALLATION DETALS _|LFS | VERTICAL
) 2 O[ DATE By CROSS SECTIONS
REVISIONS
Dzovz Rw. B ONBULTANTS INC.




RAClients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ Impact\C - Drawings\FL-16094 (2017]\FL-16094.1-4.dwg, 4.1

fpr—.
N
...:,...z,.». P
S8 T
=== AR
§ s ) w S Bl
. 4" (TYp.) s T8 g &S .2
£ (TYP) Z e ‘Bz fa
4 8" (Tvp) & (TYp) o= %) S, SFS mmmm
=™ il _P w4 S
T ey R IR 43 S A
" fe LI - ]
: R -1 i TR L s 9328
- - i - i Slgig 5%2u
£3 ; _ s o m_ms.m R
7= | ol D I | T
MASONRY & JAMBS e W Bu m..Jv
OPENING s : Jo
(TYP) - - - TR - TYP. HEAD
& JAMBS & JAMBS
2X BUCK — ] &
R - u - o | | e 4K
3t 43 it 5 5%
. 3 2 g 2
e — - nnc — | - - mn..rm S 1 I nunlm ﬂ L=}
Z - B | < | | N e
e i ! e _ _ & %
| _ _ = _ _ s S
* e _ ..... _ _ m M
tles
BUCK ANCHORING BUCK ANCHORING BUCK ANCHORING
X X0/ OK oX0 mm
g
|
mm of
_ 52
BILL OF MATERIALS z
TEM # | DESCRIPTION MATERIAL EW
A__|TXBUCK [5G >=0.55 WOOD w
B | 2XBUCK (SG>=0.55 WOOoD CONCRETE ANCHOR NOTES: o]
C | 1/4" MAX, SHIM SPACE - 1, Substifution of equal concrate anchors from a cilfferent supplier may have different edge u4m
D [ 1/4"X 2-3/4" PFH ITW CONCRETE SCREW STEEL g ol G &32_;15”33_”58 o T~ lum
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE distance fo morfar joints. Concrete anchor locations nofed as "MAX. O.C. [TYP,)* must be g
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 ﬁnagﬁwﬂ __.._.Huu_.a l!.t_ﬁ. nmm.,ﬂ..‘ w__uiﬂrwirn.wﬂ..o:nnoﬁ..i onchors
G | 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL s o Siaymion oconcied owTE: 12/10/12
H | 3/16"x 3-174" PFH MW CONCRETE SCREW STEEL sus N.T.S,
K | #9 X 3/4" PFH WOOD SCREW STEEL ows. B JK
[ | #8 X 3" PFH WOOD SCREW [1-1/2' MIN, EMBEDMENT) STEEL o o LFS
M | #10 X 2-1/2" PFH WOOD SCREW STEEL sﬂ..m,_.wom:
1| INGER JOINTED PINE HEAD & JAMB [5G >= 0.42) WOOD " |m|
sHEET _ 4 oF

© 2012 R.W, BUILDING CONSULTANTE INE.



------

W
,..,..o,u,..... ......... A 3
=& m g4
] JAMS (TYP) - m N
4.5 =z &=y 2
2 ; i e _IE::J R £ PUESLse,
[-S . Ll |_l v.o-.-o i . - Uulm%m
1. = nn\\\\ R £ 3 m £
o5 L Jox suck ] ! gy mmmu_
i z z ¥ 9333
= G )IXBUCK m m o mm.aw 538y
~ whHeap | < -3 8 ] 2okl
w uj
o

KNOB:  SIGNATURE SERIES
DEADBOLT: SIGNATURE SERIES (980) pcnr i

2 g%%ﬁ?ii:%a%?i edge
distance fo mortar joints, Concrete anchor locations noted os "MAX. O.C. (TYP.)" must be
adjusted to maintain the min, edge distance to morfar joints, additional concrete anchors
:ﬁtwoiﬂiuog?og O.C. (TYP.)" dimansion are not exceedsd.

0.090" PVB INTERLAYER (KURARAY)

1/8" ANNEALED GLASS
AIR SPACE

| Min. cueaRaNCE TO | MIN. CLEARANCETO. L, 1/8" TEMPERED GLASS nHE] |8
EMBEDMENT | MASONRY EDGE | ADJACENT ANCHOR | 48X 1.5 PH SMS ALUMINUM SPACER weE: 12/10/12 | £
r s BACK-BEDDING SILICONE SE: N.T.S.
(READI-SEAL) OWG. BY: JK ]
3 BT o @E LATCH STRIKE T
WOOD SCREW INSTALLATION NQTES: R [oRANING. NO.: u
.- o n _ IR~ LB — -
1. Maintain @ minimum 5/8" edge distance, 1" end disfonce, & 1" 0.c. spacing of LATCH AND DEADBOLT DETAIL FL-16094.1 |2

wood scraws fo pravent the spiitfing of wood. 5 o5 M

RAClients\Plastpra, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ Impacth\C - Drawings\FL-16094 (2017)\FL-16094.1-4.cwg, 5.1
rmoRs [ I }



N\ i /
2L
S Z
l...” ~_-J.V_ .WA " M “
S8 o ez
= "I W Tz
— L] % T
= of 2=
-— ) .Af.%@ L M.l...
“ 'o w 4-_-~ G —
7 % /o_. * S~
Z, o oL e
%, Rom e &
%1, 9F, WEAN
\\_.qk. m o .f/
4 _ 3 = PILLITITITIVA N 1
Window Options :
For Glass:
Max daylight opening 39-3/8 x 12-1/2"
(up to +44.3/-51.5 psf)
_H 16'-0" (see notes for other widths) s Max daylight opening 16-3/4 x 10-1/4"
(up to +50.7/-57.5 psf)
Optional Standard Lites \.@Fﬁﬂ&%ﬁuﬁ VA" DSB
(see window options) .____k " Tempered Glass
/16" Insulated Glass
7/16" Tempered Insulated Glas
__ wmq:na.__.u_sauaﬁn_?uk 10-1/4
x "
mmaree || e s | it | e e | e _ (up to +44.7/-51.5 paf)

1/4"  Lexan with Aluminum Frame

| e | cSmesser o G SSESES | SaEs— m.m- m mnm
I|.|I|—I|Iit1|“l—”.” — —_ door height g, 45
N Y
AL JHC JHC (AL 0T eowro | [ 4]
@.\ == _...||_.|11|”..|||”_.,_._;_ —— _ swees | 5 | 5| 4
i 0 o IR
e .WI"II..I.-;..I.IMII._ o 109'w123"| 7 | 7 | 6
@/ .?—:I___—__‘I__.L_I._,-__I..|I|_E__I_J_..L_Iw_“_‘..ll__-__l_m-—.m 26"t 140"| 8 | 8 | 7 ¢
T (=1 =11 T——11 I—11 1e—=41 [—] :“AHI;.—-.. 14-3"1015%9"| 9 | 9 | 8
SIS - e
e . : 160"t017-6"| 10 | 10 | 9
‘This door has been evaluated in accordance with ASTM E 330-02 and ANS. 108-02 and 108-05, Q" xrt
Per ASCE 7-10 8s referenced by FBC 2010, i inllciiudl BB BN B
Design Pressiures (DP) typically meet or exceed the requirements for the following wind speeds. 19-6"10200" | 12 | 12 | 11
These wind speeds are for 7 high doors, taller openings typically withstand higher wind speeds. Sirit Atteehniust Btra —— a2
Width | @g Exposure "B" | Exposure "C" [Windows |Center Stiles use with grade 2 or better spruce-pine-fir
T 00 5 110 03 (mpi 0 5 {SPF) or southern pine jambs,
T [12.0 (psf) /- 13. 58 (mp 0
ﬁ: 33 (pan) [~ 14 )
18206" |14.0 (psf) /= 15.6 )| 105 0 e i
18007 || .Mm ] 108 for doors up to 200" high, These are required
@%_1 K =15, 9 (mph) % Supporting structural elements to be designed adéion t it deaving o instaliaion, Always
16-00" 118.7 - Mdk% n:ﬁﬁu by registered professional engineer for use supplemental instructions in addition to this
195 a ( specified wind loads. If door is not drawing during door install
.I_ " 1214 - 23.8 (psf) 52 ) % electrically operated, a lock must be installed.
oo /e e — : i g 200 N
L1-00° 127 . wmﬁq mph) m.ﬁﬂu 4 Maximum section height: 21" | -
7S e N WX : e = 03152012
10-00"_|29.9 (pst) /- 33.3 (psh) 77 (mph) 49 (mph) 4 ﬂ:h_ nmm@ﬂ N@ﬂ i&? o ﬂa._..r.umm_ll.ll
[057°06" [31.5 (ps) /= 35.0 (ps) | 181 (mph) | 153 (mph) : S(e/t12 Bldien, T, w1, S
09007 1332 (psf) /- 37.0 (ps) | 185 (mph) | 156 (mph) : Professional Engineer's seal provided Jobn E. Scates, P.E. 374 (psf) /- 41.6 (psf) at 08'-00" through
ﬂmﬁ. .%Fﬁ .ww“@ ”3_.. BBW Mﬁﬁw : only for verification of windload 3121 Fairgate Drive 109 (psf) /- 12.1 (psf) at 21'-00"
Pressures must be reduced by the ralo of widths squared for a door wider than one Shown. e Carrolitan, Texss 75007 C.HI Drawing: F23-16-01311
Pressures may be increased by the simple ratio of widths for a door narrower than one shown. Florida P.E. #51737 page lof 2

r | 3 rF 2 I 1




4

3 4 2

T :

Strut (if applicable) not shown for clarity.

(.059) galvanized steel top
fixture, Each fixture attached
with four 1/4" x 3/4" screws.

(.109) galvanized steel top
fixture., Each fixture attached
with two 1/4" x 3/4" screws.

push nut
(.034) end stile
manufactured by C.H.L

Optional low head room top bracket

2" (max. for .069 .Enwui
4" (max. for .109 thick)

nominal @ 2" (min.)
10 (min.) ball roller
with nylon or steel tread.

(.102) galvanized steel bottom

bracket manufactured by C.H.L
Each bracket attached with four
red 1/4" x 3/4" screws.

push nut

See jamb attachment details for more information about attaching jambs to structure.

2" x 7/16" (nominal) stop molding 1o be secured with
minimum 84 nail or 2-1/2" long screw on 8" spacing.
Stop molding not required when door is more than 1" wider than opening.

niominal (.0185) galvanized steel minimum

7,

(.034) center stile

2" (min) x .045 (min,
manufactured by CHL Wm.—dmbﬁ.& steel track

End Hinge

galvanized steel fastened
to section with

| B===8 four 1/4" x 3/4" screws.

: Intermediate Hinge
n (.058) galvanized steel

fastened to section with
four 1/4" x 3/4" screws.

df,

(.051) 50 ksi galvanized steel

3" strut attached with two 1/4" x 3/4"
- i screws per stile or hinge plate.
/ push nut
(.109) galvanized steel bottom bracket " . "
manufactured by C.HLL Each bracket attached mﬂ.ﬂﬂﬂ@@ﬁ@ﬂﬂﬁ%
ith four red 1/4" x 3/4" screws. y for vesification of wind)
W construction details

Optional low head room bottom bracket

The vertical wood jamb fasteners may be counter sunk to provide a flat mounting surface,

0 w««....:,.r

Details on some views may have been omitted for clarity.

Il

g 000 @)

I

(.086) galvanized steel N
flag bracket fastened to
wood jamb with three
5/16" x 1-5/8" wood lag
screws,

Flag bracket attached

to horizontal track
with two 1/4" x 5/8" |
track bolts and nuts.

Flag bracket attached to —
vertical track with two 1/4"
x 5/8" track bolts and nuts,
Or two 1/4" x 11/32" rivets.

(.102) galvanized steel track in

bracket fastened to wood jamb “ “ ..7
\. -4

E&ga»m._n—-uaxﬂo&
lag screw per bracket.

Each track bracket attached with .\
one 1/4" x 5/8" track bolt and nut,
Or two 1/4" x 11/32" rivets,

TR 03-15-2012
Model 2240, 2241, 2250, 2251

37.4 (psf) [ - 41,6 (psf) at 08'-00" through
109 (psf) /- 12.1 (psf) at 21'-00"

C.H.IL Drawing: FZ3-16-01311
page 2 of 2

John E. Scates, P.E
3121 Fairgate Drive
Carrollton, Texas 75007
Florida P.E. # 51737

3 = )

| 1




1 WiNDOW
WIDTH
A, ——-—
[+] [+]
=
W ] " W
| /|
ooy " e ELEVATION
el i | A VIEWED FROM EXTERIOR
o \ o
ﬁm- MAK.{TYR)
o
[+]
A B f
Maximum design pressure capacity chart (psf)
Unit width (in _
Height [ 77.50 1550 ] mﬂul.._..w.wullﬁﬂl.ll.ﬂa 43.50 47.50 wm.ﬂa
in} [Pos Pos | Neg Fos Pos Fos Fos Fos Pos
ﬂ& ...ﬁ.u:rw!.ﬁ.rxa 525 25 3.0 .w.ﬂq-%,.ﬂmim.ﬂmfm.rﬁ 3.0 ﬁm 350 Wm
36.50 | 350 | 625 | 35.0 | 525 5| 95,0 | 625 | 35.0 | 625 35.0 | 525 | 35.0 | 52.5 | 35.0 | 52.5 | 35.0| 526 | 38.0| 52.8 |
43.80 | 36.0] 52.5| 350 52.5] (350 525 350 525 | 560 | 525 35,0 625 [ 350 525 B.0] 525 3650|462
47,50 | 350 | 525 | 350 | 525 5| 35,0 | 525 95.0 | 525 95.0 | 52,5 | 35.0 | 52.5 | 3.0 | 52.5 | 35.0| 52.3 | 35.0| 45.2 |
57,00 | 35.0 | 52.5 | 35.0 | 52.5 | 36,0 | 525 | 35.0 | 526 36.0 | 52.5 | 35.0 | 52.5 | 35,0 | 52.5| 35.0 | 49.8 | 35.0 | 42.7 |
| 55.50 | 35.0 | 62,5 35.0 | 525 | | 5.0 525 | 95.0| 62,5 | 35.0 | B2.5 | 35.0 | 62.5| 36,0 | 52.5 | 35.0 | 47.4 | 35.0 | 40.6
| 89,75 | 35.0 | 52.5 | 35,0 | 525 | [ 35,0 | 52.6 | 36,0 | 52.5| 36,0 | 52.5 | 35.0 | 52,5 | 35,0 | 61,8 | 35.0 | 45.5 | 35.0 | 38.8
7200 | 350 625 350] 625 5.0 525 360|626 95.0| 52.5 | 35.0 | 623 35.0 | 48.2 | 36.0] 41.7 | 35.0| 350
uired, Units anchored using 6d nails.
Unitwidth (in) = = .
Height [ 77,80 19.50 33.00 7760 20.50 375 | 3850 .50 41.80 43.50 #7.50 53,13
{in Slamb| mi mb|H & SJamb|H & SPamb|H & SUamb mb & S[Jamb Mﬂ
, 2 2 2 2 3 4 3 4
" 35.80 2 Z 3 3] 3] 3|3 3] 3| 4444
4360 | 2 F 3 0 e [ L 7] 4 5
~47.50 [ 7 | A [ 3 7 ) r [ 3
"51.50 [ [ 4] 2| 41314 [ 3 5 | A4 [
" 55.80 7 1124214 1 E 5 3] 6 | 4 1
4| 2| 4|2 4|25 5 5 g | 3 36| 4 2185
70| 2 | 6 | 2| 6132 |61 21631863 |06]alFTi3 T 3lT[31TI% a6
Number of anchors required, Units anchored with #8 wood screw,
Unit widh (in) _
Height [ 17.80 1080 | 238 | as0 | 2080 | 3178 3580 250 | #8 | #% 4ars0 | 8313
() 1H & sUamblH & SUamblH & [ ioxnu_.riuxnmh&su.:u:.___.s_. mbl|H & S{amb|H & SUamb|H & SLamb
2750 | 2 2 | 2| 2| 2| 2] 2]3|z2]3s $] 2] 3 2 | a| 2| 4242
3550 | 2 2 | 3|2 |3 |2]|38]|3]|3]s 318 3 3 | 3|3 | 43|43z
| 4330 | 2 2 | 3|23 ]|2]|3]3]3 3| alslafslalalalals]|a]sa
47.50 2 4 2 4 2 4 2 4 4 4 3 4 3 4 3 4 3 & 4 4 4 4
5150 | 2 | 4 | 2 | 4 | 2 | 4 | 2| 4| 3] 4] 3| a|3|a|a|a]3|alalal|a]|alal]as
5550 | 2 | 4 | 2| 4] 2] 4] 2] 4 4 | 3| 43| a]a]a]as]al]alalla]a]al]a
5075 | 2 | 4| 2| 4] 2] 4] 2]4]3]4a]a]la]a]a]las]|a4]s][a]alalal]alala
1200 | 2 [ 5 | 2|6 ]2 ]6]2]|5[as]s]s[s[3s[s |35 [3|[s]a]|5]a]5]|a]5s]
= e S = e ———— —r———

REVISIONS
REV DESCRIPTION DATE APPROVED
A | REVISED PER 2007 FBC g8/13/08 R.L.
B | ADDED ANCHOR CHARTS 01/25/12 |R.L
C | REVISED NAME 10/15/13 | R.L

NOTES:

1)
2)

3)

4)
5)
8)

7)

8)
9)
10)
11)
12)

13)

THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH
REQUIREMENTS OF THE FLORIDA BUILDING CODE,

OPENING TQ BE DESIGNED TO PROPERLY TRANSFER ALL LOADS TO STRUCTURE., OPENING
DESIGN IS THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.

CONTRACTOR IS RESPONSIBLE FOR MAINTAINING STRUCTURAL INTEGRITY OF WINDOW OPENING
AND ALL WOOD FRAMING AROUND WINDOW.
WINDOW FRAME MATERIAL TO BE PVC.

ALL FASTENERS SHALL BE MADE OF CORROSION RESISTANT MATERIAL.
SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD BEARING SHIM. SHIM WHERE
SPACE OF 1/16" OR GREATER OCCURS. MAXIMUM ALLOWABLE SHIM STACK TO BE 1/4"

INSTALL UNITS IN SPRUCE PINE FIR OR BETTER USING 8d .120" DIAMETER NAIL OR #8 WOOD
SCREWS LOCATE ANCHORS 6" FROM EACH CORNER AND 17" MAX O.C.THEREAFTER.
APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED ON THIS PRODUCT IN WIND BORNE DEBRIS

REGIONS,
CAULK BEHIND WINDOW FLANGE AT HEAD, SILL AND JAMBS.

USE CAULK FOR PERIMETER SEAL AROUND EXTERIOR OF WINDOW.
WHERE WATER RESISTANCE TEST REQUIREMENT OF 15% OF DESIGN LOAD APPLIES, POSITIVE

DESIGN PRESSURE IS LIMITED TO 35PSF DUE TO WATER TEST PRESSURE OF 5.25PSF
ACHIEVED IN TEST.

IF EXACT WINDOW SIZE IS NOT LISTED USE NEXT LARGER SIZE FOR THE APPROPRIATE DESIGN
PRESSURE.

UNITS MUST BE GLAZED IN ACCORDANCE WITH ASTM E1300-04 AND MAY VARY DEPENDING
UPON SIZE.

SIGNED: 10/18/2013

"

Ml WINDOWS AND DOORS LLC 4,,::_::..\@
AN Y R. HO /y,
1001 W, CROSBY RD. RN
CARROLLTON, TX 75006 S\ fomzq..r..._,\\\
— - . -
SERIES GA 7050 RECTANGULAR PVC SH Sk Ao =
TILT WINDOW - 53 1/8 X 72 = 7. =
INSTALLATION DETAILS AND DESIGN PRESURE CHART ....u....v. ATE OF &=
2% A i .”%\.m..
DRAWN: WG WD, = v+ LORID PO
R.L. 08-00248 c 7, SIONAL B
STAE NS |ONE 9/09/07 |1 OF 2 Iy

_"



SHEATHING
BY OTHER

INSTALLATION
ANCHOR

PERIMETER
CAULK BY o,_.Imlm/A

CAULK BETWEEN FIN
& SHEATING

1 1/2" MIN,
EMBEDMENT

2 X WooD
BY CTHERS

FIN TYPE |\
WINDOW FRAME

HEADER

EXTERIOR

FIN TYPE
WINDOW FRAME
SILL

i

PERIMETER n»c_.x\
8Y OTHER

INSTALLATION /]
ANCHOR

SHEATHING
BY OTHER

SHIM AS REQ'D
{SEE NOTES)

WINDOW
HEIGHT

SILL STOOL
\lW“ OTHERS

SHIM AS REQ'D

N (SEE NOTES)
CAULK BETWEEN

SECTION A—-A

WINDOW FIN &
SHEATING

b 1 1/2" MIN.
EMBEDMENT

2 X WooD
B8Y OTHERS

t

11/2" MIN.
EMBEDMENT

i

1

I

[T

CAULK m_ﬂ_.s__mmzl.\

WINDOW WIDTH

SHIM AS REQ'D
(SEE NOTES)

e

REVISIONS

REV

DESCRIPTION

DATE APPROVED

A | REVISED PER 2007 FBC

B/13/08 R.L.

B | ADDED ANCHOR CHARTS

01/25/12 | R.L

C | REVISED NAME

10/15/13 [R.L

SHIM AS REQ'D. (SEE NOTES)

A

2 X wooD
BY OTHERS

f

1 1/2° MIN,
EMBEDMENT

f

L\

SHEATHING
BY OTHERS

/| INSTALLATION

WINDOW FIN &
SHEATHING EXTERIOR SNEH
PERIMETER CAULK
FIN TYPE
WINDOW FRAME JAMB BY OTHER
SECTION B-B
Horizontal Vertical
Window | Window Window | Window
Hortzontal| Horizontal Vertical | Vertical
CalSizo | IFD CollSize | IFD
16 | 17 12 24 | 2712
18 | 1812 30 | 3512
20 | 2312 38 | 4312
24 | 27112 40 | 47 12
26 | 2912 44| 51112
28 | 3134 48 | 85112 Ml WINDOWS AND DOORS LLC awwiin,
WNg R, Log,
0 | 351 50 | 5034 1001 W. CROSBY RD. NN S
a4 38 112 SPCL 72 CARROLLTON, TX 75006 R fn.mz.mpv....*&.\\\\
-~ . -
a6 | 4112 SERIES GA 7050 RECTANGULAR PVC SH Sws fio =
38 | 43 12 TILT WINDOW — 53 1/8 X 72 -l ;. =
o T wis INSTALLATION DETAILS AND DESIGN PRESURE CHART |ZR%" STATE OF +&=
SPCL | 53 1/8 T TWG NG, ] 2o foriot .m.v%ﬁm,
R.L. 08-00248 c \v\xﬂ.m\o_.‘wﬂ. A
SAE NTS  [ONE g /pg/07 [SEET2 oF 2 i




f"/‘

TAMKO

Tuscaloosa, AL

©  Application Instructions for

HERITAGE’
LAMINATED ASPHALT SHINGLES

THESE ARE THE MANUFACTURER’S APPLICATION INSTRUCTIONS FOR THE ROOFING CONDITIONS DESG RIBED.
TAMKO BUILDING PRODUCTS, INC. ASSUMES NO RESPONSIBILITY FOR LEAKS OR OTHER ROOFING DEFECTS RESULTING FROM
FAILURE TO FOLLOW THE MANUFACTURER’S INSTRUCTIONS. FAILURE TO FOLLOW THESE INSTRUCTIONS WILL ADVERSELY
AFFECT COVERAGE UNDER THE LIMITED WARRANTY. SEE THE LIMITED WARRANTY FOR DETAILS.

THIS PRODUCT IS COVERED BY A LIMITED WARRANTY, THE TERMS OF WHICH ARE PRINTED ON THE WRAPPER.
IN COLD WEATHER (BELOW 40°F), CARE MUST BE TAKEN TO AVOID DAMAGE TO THE EDGES AND CORNERS OF THE SHINGLES,

- DONOTPLACEFASTENEHSOHORABOVETHEPMNTUNEONTHESHINGLE. The paint

Zone, see section 3 of these Application Instructions. Failure to follow fastening instructions, including but not limited to improper
placement of fasteners on or above the paint line, will adversely affect coverage under TAMKO’s applicable Limited Warranty. Avoid

IMPORTANT: It is not necessary to remove the plastic strip from the back of the shingles.

These shingles are for application to roof decks consisting of
plywood or sheathing boards capable of receiving and retaining
fasteners, and to inclines of not less than 2 in. per foot. For roofs
having pitches 2 in. per foot to less than 4 in. per foot, refer to
special instructions titled “Low Slope Application”. For roofs having
pitches greater than 21 in. per foot, referto special instructions titled
“Mansard Roof or Steep Slope Roof”. Shingles must be applied
properly. TAMKO assumes no responsibility for leaks or defects
resulting from improper application, or failure to properly prepare
the surface to be roofed over,

NEW ROOF DECK CONSTRUCTION: Roof deck must be smooth,
dry and free from warped surfaces. It is recommended that metal
drip edges be installed at eaves and rakes.

PLYWOOD: All plywood shall be exterior grade as defined by
APA - The Engineered Wood Association. Plywood shall be a
minimum of 3/8 in. thickness and applied in accordance with the
recommendations of APA - The Engineered Wood Association.

SHEATHING BOARDS: Boards shall be well-seasoned tongue-
and-groove boards and not over 6 in. nominal width. Boards shall
be a 1 in. nominal minimum thickness. Boards shall be properly
spaced and nailed.

2. VENTILATION

Inadequate ventilation of attic spaces can cause accumulation of
moisture in winter months and a build up of heat in the summer.
These conditions can lead to:

1. Vapor Condensation

2. Buckling of shingles due to deck movement.

3. Rotting of wood members.

4. Premature failure of roof.
To insure adequate ventilation and circulation of air, the ventilation
system must include inlets and outlets. This may be accomplished
with a combination of ridge and soffit vents or by using gable end
vents. FHA minimum property standards require one square foot

of net free ventilation area to each 150 square feet of space to
be vented. This may be reduced to one square foot of ventilation

area per 300 square feet if at least 40% and not more than 50%
of venting is provided not more than 3 feet below the ridge or if a
Class | or ll vapor barrier is installed on the warm in winter side of
the ceiling in climate zones 6, 7, and B as recommended by the
2012 International Residential Code. For more information consult
your design professional. If the ventilation openings are screened,
the total area should be doubled.

IT 1S PARTICULARLY IMPORTANT TO PROVIDE
ADEQUATE VENTILATION.

3. FASTENERS

WIND CAUTION: Extreme wind velocities can damage these
shingles after application when proper sealing of the shingles does
not occur. This can especially be a problem if the shingles are
applied in cooler months or in areas on the roof that do not receive
direct sunlight. These conditions may impede the sealing of the
adhesive strips on the shingles. The inability to seal down may be
compounded by prolonged cold weather conditions and/or blowing
dust. In these situations, hand sealing of the shingles is required. To
insure immediate sealing, apply 4 quarter-sized dabs of TAM-PRO®
Premium SBS Adhesive or TAMKO Tam-Seal Adhesive on the back of
the shingle 1 in. (25mm) and 13 in. (330mm) in from each side and 1
in. (25mm) up from the bottom of the shingle. Press shingle firmly into
the adhesive. For maximum wind resistance along rakes, install any
TAMKO starter shingle including sealant or cement shingles to the
underlayment and each other in a 4 in. (102mm) width of TAM-PRO
SBS Adhesive or TAMKO Tam-Seal Adhesive. Caution: Apply ONLY a
thin uniform layer of adhesive less than 1/8 in. (3mm) thick. Excessive
amounts can cause blistering of the shingles and may soften the
asphalt in certain underlayments resulting in the asphalt flowing,
dripping and staining. Shingles must also be fastened according to
the fastening instructions described below.

Correct placement of the fasteners is critical to the performance of
the shingle. If the fasteners are not placed as shown in the diagram
and described below, this will result in the termination of TAMKO's
liabilities under the Limited Warranty. TAMKO will not be responsible
for damage to shingles caused by winds in excess of the applicable
mph as stated in the Limited Warranty. See Limited Warranty on the
wrapper or tamko.com for details.

(Continued)
Central District 220 West 4th St., Joplin, MO 64801 800-641-4691 05/14
Visit Our Web Si Northeast District 4500 Tamko Dr., Frederick, MD 21701 800-368-2055
O i Southeast District 2300 35th St., Tuscaloosa, AL 35401 800-228-2656
tamko.com Southwest District 7910 S. Central Exp., Dallas, TX 75216 800-443-1834
Western District 5300 East 43rd Ave., Denver, CO 80216

800-530-8868

FORMERLY HERITAGE® 30




